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Practice

Complete each sentence with one word only. Do not use the same word more than once.

fuel than the old ones did.
she lives these days.

1 Modern cars use

2 Idon’t know her address — I've got no idea

3 If you want to pass the test, you'll have to make mistakes next time.

N

they did with the money is still a mystery.

the boss wants to see me?

Do you know

Caroline never explained she made all that money.

Since his retirement Silvio has had time to spend in the garden.
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irritating of the candidates.

Replace each underlined phrase with a wh- noun clause, using the words
in brackets, as in the example. EDEZEEB Listen and check.

Isaac Newton

In 1687 the English scientist Sir Isaac Newton published a book
entitled Mathematical Principles of Natural Philosophy. At the
time few people fully understood (0) the suggestions in the book
(what/suggest). Nonetheless, the book was hugely influential and
made Newton famous around the world, although fame was not
(1) his intention (what/want). Newton's theories were based on
mathematics and (2) his observations of (what/see) in the world
around him. He noticed that all objects, heavy or light, fell to

the ground. He wanted to explain (3) the reasons for this
(why/happen). His theory of gravity provided a revolutionary
explanation of (4) the movement of different objects
(how/different objects / move). (5) The ideas in his book
(what/write) became the basis for much of our understanding
of physics and the processes which govern relationships between
physical objects.

Find and correct six mistakes in these sentences. Tick (v) the correct sentences.

1 It’s raining so there are less children in the park than usual.
I couldn’t believe the ridiculous reason what they gave for their behaviour.
I'll only accept that promotion if it pays more money than I'm getting now.
We weren’t very close so we didn’t hear that she said very clearly.
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5 You should see where she lives — it’s amazing!

6 It’s quite a good novel, but very similar to the one what he published two years ago.
7 Who she married hardly matters any more, does it?

8 Darren won because he took the fewest time to complete the task.

9 The explanation what the suspect gave didn’t convince the detective.

10 Let’s meet at the Luna café — it’s close to where I work.
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